
 
 

 

Desktop Rack Stand Assembly Guide 

 
 

 
 

 

 
 
 
 
 
 
 



 

Desktop Rack Stand Assembly Guide 

 

Rack strip 
 
 
 
Side panel 
 
Front Spacer 

 
 

 
 
 
 
 
 
 
 
 
 

 
 
 
 

 
 
Assembly Steps 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 

Errors and omissions excepted. Copyright© 2022.  
AVSL Group Ltd. Unit 2-4 Bridgewater Park, Taylor Rd. Manchester. M41 7JQ 

AVSL (EUROPE) Ltd, Unit 3D North Point House, North Point Business Park, New Mallow Road, Cork, Ireland 

Hardware 

8 x M6x12 screw 

8 x M6 nut 

4 x M5x14 screw 

4 x M5 nut 

4 x rubber feet 

2 x M6x12 screw 

2 x M6 nut 2 x M5x14 screw 

2 x M5 nut 
2 x rubber feet 

2 x M6x12 screw 

2 x M6 nut 
2 x M5x14 screw 

2 x M5 nut 
2 x rubber feet 

4 x M6x12 screw 

4 x M6 nut 


